
Soustraction Avec Un Zéro (J)Calculez la différence.
70 50 90 20- 23 - 23 - 87 - 3
50 90 60 40- 33 - 71 - 6 - 11
50 10 50 80- 16 - 3 - 2 - 45
80 80 20 40- 45 - 73 - 1 - 11
70 30 60 70- 8 - 24 - 30 - 17
40 40 60 40- 21 - 40 - 22 - 10
90 30 60 90- 78 - 26 - 3 - 16
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Soustraction Avec Un Zéro (J) RéponsesCalculez la différence.
70 50 90 20- 23 - 23 - 87 - 347 27 3 1750 90 60 40- 33 - 71 - 6 - 1117 19 54 2950 10 50 80- 16 - 3 - 2 - 4534 7 48 3580 80 20 40- 45 - 73 - 1 - 1135 7 19 2970 30 60 70- 8 - 24 - 30 - 1762 6 30 5340 40 60 40- 21 - 40 - 22 - 1019 0 38 3090 30 60 90- 78 - 26 - 3 - 1612 4 57 74
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